
A. APTITUDE ASSESSMENT - PRIMARY 

Now I would like you to complete a short assessment for me.  The results of this assessment will 
not be shown to anyone, the results will not count as part of your schoolwork.  I only want to 
see how much you remember from last term.  Do not worry if you cannot answer a question.  
Do the best that you can.  YOU HAVE FIVE MINUTES TO COMPLETE THIS SECTION. 

CHOOSE THE CORRECT FORM OF THE VERB FROM THE TWO OPTIONS PROVIDED. CIRCLE “ 1 “ 
OR “ 2 “ IN THE BOX AT RIGHT DEPENDING ON WHICH YOU CHOOSE. 

107A Somebody ______________ eaten 
the rice. 

HAS     =     1                                                    
HAVE  =   2 

108A Mansa and Sefa 
_________________ well. 

WRITES  = 1                                                    
WRITE  =  2 

109A The girl __________________ ran 
very far. 

RUN   =      1                                                    
RUNS =    2 

110A All of the students _____________ 
reading. 

ARE     =     1                                                     
IS  =         2 

111A He ______________ tired 
yesterday. 

WERE   =   1                                                     
WAS  =    2 

CHOOSE THE CORRECT FORM OF THE ANSWER FROM THE FOUR OPTIONS PROVIDED. CIRCLE “ 
A “, “ B “, OR “ C “ IN THE BOX AT RIGHT DEPENDING ON WHICH YOU CHOOSE. 

112A One teacher bought 6 textbooks of 
the same kind for 96 Ghana cedis.  
What is the price of one textbook? 

Use this space for work: 
 
 
 

A  =  18 Ghana cedis 
 
B  =  9 Ghana cedis 
 
C  =  16 Ghana cedis 

113A Find    4    x   2          Use this space 
for work: 
            5         2 
 
 

A  =  8                                 B  =  5                              C  
=  6    
        10                                        10                                     
7  

114A Ben is 1.23 metres tall.  His sister is 
.89 metres taller than him.  How tall 
is Ben’s sister?          

Use this space for work: 
 
 

A  =  1.33 metres            B  =  2. 12 metres          C  
=  2.02 metres 

115A Divide 108 by 9.       Use this space 
for work: 
 
  
 

A  =  12            B  =  16          C  =  22 

116A Subtract 79 from 2030.   
Use this space for work: 
 
 
 

A  =  1951            B  =  1973          C  =  1941 

 



B. APTITUDE ASSESSMENT - JHS 

Now I would like you to complete a short assessment for me.  The results of this assessment will 
not be shown to anyone, the results will not count as part of your schoolwork.  I only want to 
see how much you remember from last term.  Do not worry if you cannot answer a question.  
Do the best that you can.  YOU HAVE FIVE MINUTES TO COMPLETE THIS SECTION. 

CHOOSE THE CORRECT FORM OF PHRASE OR VERB FROM THE THREE OPTIONS PROVIDED. 
CIRCLE “ A “, “B”, OR “ C “ IN THE BOX AT RIGHT DEPENDING ON WHICH YOU CHOOSE. 

107B The woman gave her customer fruit 
______________ 2 Ghana cedis. 

A = in exchange to      
B = on exchange for 
C = in exchange for 

108B I don’t approve  
_________________ the new rules. 

A = with      
B = in 
C = of 

CHOOSE THE PAST TENSE VERB THAT BEST FITS IN THE BLANK: 

109B The girl __________________ her 
head. 

A = shaked      
B = shook 
C = has shooken 

110B All of the students _____________ 
today. 

A = swimmed      
B = swum 
C = swam 

111B Kofi and Sam ______________ tired 
yesterday. 

A = was      
B = were 
C = are 

CHOOSE THE CORRECT FORM OF THE ANSWER FROM THE FOUR OPTIONS PROVIDED. CIRCLE “ 
A “, “ B “, OR “ C “ IN THE BOX AT RIGHT DEPENDING ON WHICH YOU CHOOSE. 

112B One teacher gave the seller 97 
Ghana cedis and 20 pesewas for 6 
textbooks.  She received 12 
pesewas in change. What is the 
price of one textbook? 

Use this space for work: 
 
 
 

A  =  18 Ghana cedis and 6 pesewas 
 
B  =  9 Ghana cedis and 12 pesewas 
 
C  =  16 Ghana cedis and 18 pesewas 

113B Find    3    +   1           Use this space 
for work: 
            4         2 
 
 

A  =  5                                 B  =  4                              C  
=  3    
         4                                          6                                      
8  

114B Ben is 1.23 metres tall.  His sister is 
.89 shorter than him.  How tall is 
Ben’s sister?          

Use this space for work: 
 
 

A  =  .56 metres            B  =  .34 metres          C  =  
.11 metres 

115B Divide 549 by 9.        Use this space 
for work: 

A  =  102            B  =  61          C  =  207 



 
  
 

116B Multiple 209 by 14.   
Use this space for work: 
 
 
 

A  =  1467            B  =  2926          C  =  29,004 

 

 

 


